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1. Turn0f| CHjsl &O}E 7|

« 2|7} YIIE "turn"BiCb= A2 "8
M A|7| HL}(rotate), CI2 B8k &k L,
Eal [ 7_|c> DFOH:I'-

0 2) Morgan turned the doorknob.

« MorganO| & &%&0|& =RICt

0| &) Turn left at the next intersection.

« ChS H UXZ0M X2 SHA| 2.
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1. Turn0j| Clol] <o}E 7|

e 22| H2|E turngt £ QILCt.

e 0| 2) Monica turned her head and
looked at the painting.

e MonicaZt 174& =2 12 & 2}

e OJ7|A Monicas XtAlO| HHE|E
redirecting sfAf 122 HQICH= 240|
it



2. Twist0f| Cljslf YOfE 7|

e "Twist” can be somewhat similar in

meaning to “turn”.

* Twist= turnid} o|0|7f FZh B2 & QALY

« 0 2) Gilbert twisted the bottle cap.

e Gilbert= HEHS HEON =3iC|

¢ O] 22 Gilbert7t ¥ 742 turning
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2. Twistof| CH8H LO}E 7]

 SFX|2F twistE AFESHY] turn 20 A&
sta, MX|0of ZHXO|7|MK| o HES
=0t AL

e 0| &) The hoodlum twisted Wanda'’s arm.

- 1 22Hl= Wandal| g H|EQICH.

o O] 22 &+77 WandaE &5t
i E 7tstn Uct= ZO|LCt.
» O|ME, twist= O{CIZtE CHX| ALt

Jtoil & 2RALCH= 2b| 2 ArEE & UL



2. Twistof| CH3ll 2otk 7]

o &) I twisted my wrist.
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3. Spin0j| CH3| 2Lo}& 7]

e “Spin” is more like “turn” than "“twist".
o Spin2 twistE L= turn®| § ZH2LCY.
H7tE spingt I R2|= AAS

"HESHA =™ A ZIC.

* 0| 2) The boys spun the top.

« MU0 S2 HOo|§ =RICH

« O{7|0f| A spin2 W21 SH|E|X| Gi=
ST e LZSiCt,

s [[L}2}A] The boys:turned the top2 20|
E|X| =L



4. Turn, Twist, Spin 5 H2|6|| £ 7|

o OfX|DF twist ECt AH
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e Spind} turnQ| X} Spin2 twistE CH= turnOf|
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5. Lift2} Carry0i] CHall 2O} 7]

« “Lift” and “carry” are closely related
in the Korean Language.

L

« "Lift" translate as “=LC}", while “carry”

translates as "= 7}C}".

« SHRO|Z EH [iftet carry= U
27 7F QUL

o Lifte "SR, carry= "S1 7R

rot

HALZ| 7| 0= OlLC.



5. Lift2} Carry0i] CHall 2O} 7]

- Lifte] ojbj= BE& oLt o=0{7F 2R, =
WA = ey O A2 OfL|Cf. ES,

1 JtCh = lift and goOf| o 74Z7|
= off stz elct.

OS2 carryet= SAE AHEE

CH7Y liftinge| 7HE € M22|X| 7| Ij20|LCt.

AEES2 B2 AS carrypttt. |52 HEY
= carrydtl, 02l sHd =2 MZ carrydtH,
A2 FS carrydtd, Eot HOE2

OI7| 52, AHL7IE2 MR 7HES carrysiC}



5. Lift2} Carry0i] CHall 2O} 7]

OffH Oforfo] oF Hehdof~,
0J 2) Could you carry these books for me?

- Ol M= & SHFAL?



6. Lifto]] CHoll XIM|S] ¥OlE 7|

- '"MEEE 2 XM =2 RIXZ &
O|AL" "SOol=E" I lift STk
0 2) Tracy lifted the dumbell.

« Tracys HES SR

0] £) Larry lifted the computer.

* Larryl— ?:-ll-l-l:‘ﬁ O-IEAA |-
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6. Lifto]] CHoll XIM|S] ¥OlE 7|

0j| &) The bride lifted her veil.

. MBJ} BAIRE SO{23CY

« O7IM lift= "SO{E M = A[7|CH"E
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7. CarryOf| CHolf XtM[5| ZOtE 7|

. Carry= LI2C 2HISICH 2 EHEICH
0 2)Could you carry these boxes over there?

Could you lift these boxes over there?

- M7 M ditEE F &4 2R
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